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   Sample Paper – 2013
Class – X
Subject – Mathematics

TIME- 2  HRS                                                                                                  M.M.-50

1 MARK

Q1- The value of (sin30° + cos30°) – (sin60° + cos60°) is

(A) – 1 (B) 0 (C) 1 (D) 2

Q2- The value of  tan300/ cot 600  is
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   (D  1

Q3-Construction of a cumulative frequency table is useful in determining the

(A) mean (B) median (C) mode (D) all the above three measures

Q4-In triangles ABC and DEF, B = E, F = C and AB = 3 DE. Then, the two triangles are

(A) congruent but not similar (B) similar but not congruent (C) neither congruent nor similar

 (D) congruent as well as similar

Q5-If in two triangles ABC and PQR,[image: image8.png]AB _BC_CA
OR-PR- PO



  then

(A) PQR ~ CAB  (B) PQR ~ ABC   (C) CBA ~ PQR   (D) BCA ~ PQR
2 MARKS 
Q6-Give two different examples of pair of   (i) similar   figures.

Q7-   In Fig.   DE ||  BC. Find EC in fig     
[image: image9.emf].        

Q8-   If sin A =[image: image11.png]B W



calculate cos A                                    
Q9- Evaluate   -   sin 60° cos 30° + sin 30° cos 60°

Q10- Evaluate - 
Q11- Explain the terms in the given formula

 Mode =   L +[image: image13.png]f1-
L
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Q12- Find the mean of the following data

	Age( in years)
	5-15
	15-25
	25-35
	35-45
	45-55

	No. of patients
	6
	11
	21
	22
	10


3MARKS
Q13- The given distribution shows the number of runs scored by some top batsmen of the world in one-day international cricket matches

	Runs scored
	3000-4000
	4000-5000
	5000-6000
	6000-7000
	7000-8000
	8000-9000
	9000-10000
	10000-11000

	No. of batsman
	4
	18
	9
	7
	6
	3
	1
	1


Find the mode of the data

Q14-Find the median height of following data

	Height in cm
	Less than 140
	Less than 145
	Less than 150
	Less than 155
	Less than 160
	Less than 165

	No. of girls
	4
	11
	29
	40
	46
	51


Q15- E and F are points on the sides PQ and PR respectively of a [image: image15.png]


PQR. For each of the following cases, state whether EF || QR : (i) PE = 3.9 cm, EQ = 3 cm, PF = 3.6 cm and FR = 2.4 cm

Q16- In Fig. if LM || CB and LN || CD, prove that    [image: image17.png]AM _AN
AB  AD




[image: image18.emf]
Q17- If tan 2A = cot (A – 18°), where 2A is an acute angle, find the value of A.
4MARKS
Q18- The median of the following data is 525. Find the values of x and y, if the total frequency is 100

	Class interval
	0-100
	100-200
	200-300
	300-400
	400-500
	500-600
	600-700
	700-800
	800-900
	900-1000

	frequency
	2
	5
	x
	12
	17
	20
	y
	9
	7
	4


Q19- Prove that  [image: image20.png]sin@ -cos® +1 _ 1
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Q20- Prove that  [image: image22.png]1 + sina
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Q21-  Prove that  - If a line is drawn parallel to one side of a triangle to intersect the

other two sides in distinct points, the other two sides are divided in the same ratio.
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